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Find the characteristics roots of the matrix
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Solve the equations 2x+y=1; 3x+2y=1 by using Cramer’s rule.
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Section-I1

2. (a) Find the equation of a straight line with slope 5 -intercept 3.
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a) One point (x,,y ') having slope ™.
b) Twopoin(s (xl'yl)md (xzvyz),
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(b)  Find the equation straight line passing throulggtwo peints 3(3'4) and (5,6)

Find equation of straight line passing through the poir@hich makes an angle

a ith positive direction of *- axis.
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(¢) Find th e lines x-2y+1=0 and 2x+6y-5=0. 5
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@ the given straight lines 3x-4y-7=0 and 9x-12y-11=0 &€ paralle
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(d)  Find the equation of straight lige parallelfo 5x+6y-10=0 and passing through the

Point (-3, 3) — 5
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OR
Find the equation of the line cutting off equal intercepts and passing through the

point (-2, 5) —
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3. (@) Convert 120°into radianand 2 into degree @
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Prove that Sin2A = 2sin Acos A
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tan(45° + 4)= 1+ 204
(b)  Prove that 1-tan4 (6 >
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If ) 2 dd(180° < A< 270° thyn, find the value of Sin4 and cos4
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cos(360° - A)tan(360° + 4)
cot{270° — A)sin(90° + 4)
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(d)  Show that cos100° + 002)81(: =0
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c0s 20° cos 40° cos 80° = l
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If y=x’+3cosx +4e* + 2 then find g9y
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(b)  Find the maximum and minimum value of a function ¥ = 2% —13x" +36x+6
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If S=l3—-212+6l+8

is the equation of motion of a particle in meters,
find the acceleration at the end of 3 secs
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Find the derivative of a functio.t.x.
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o o . -— - _I- = _ .T .
Find the equation of tangent to the curve 7= I=x"at the point (2, 3)
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5. (a) Evaluate I tal?_ Xk
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Integrate the function
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Find the vOlumEQ_he solid generated by revolvmg the bout X-axis
between the ordinates x=0 and x-2
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@ Evallféte the indefinite integral I (x sinx)dx using integration by parts. @
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(d)  Evaluate the indefinite integral '[xz +2x+1  ygsing integration by substitution
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